A H4X B | - AR (FEEN ik, i: 1 =
7o 24/25E alll 5kg 78 kg 800
EMTDA 16/ dtiEE 2kg i kg | 2,400
EMTDA 18 dbiEE 2kg i kg | 1,800
EMTDA 38 dtiEE 4kg i kg | 1,200
EMTDA 16 aF 2kg i kg | 2,200
EMTA 32 aF 4kg i kg | 1,600
EMTDA 352 aF 4kg i kg | 1,450
EMTDA 388 aF 4kg i kg | 1,100
huA 4kg =i 1A #a kg | 1,400 # fEF
huA 3kg =i 1A #a kg | 1,400 # fEF
huA 2E =i 6/7kg 5= kg | 1,250 R A
VAP 3kegE =i 1A #a kg | 3,500 ETE fEF
£ BfH 4 = 4/5kg b kg | 3,200 # igF
H<IR 18/202 R 4kg i kg | 2,000 INB BEH
71 10/11kg =3 1A £ kg | 1,600 EBE
7V 9kg =3 1A #a kg | 1,100 EE
7 8kg £ 1A #a kg | 1,000 EE
EiR 2kg & & 1A i kg | 2,300 EiE
MyroJ4—L 4/6 A dbiEE 5kg & kg | 2,150 | ARG EER|. H7. BE. B
1=l dbimE 5kg 5= kg 900
75X K 100g P P 500
BT #9160 | dbiE@E 54 54 300
HryFH #9300¢g dbimE 1& kg | 1,800
=PA% e 40gUP 1] =] 1 kg | 2,000
H4HT 100/130g | FRI& 1 kg | 2,600
YT 150/180g Ei& 1& kg | 2,700
H4HT 200/250g | Ei& 1 kg | 2,800
H4HT 250/300g | Ri& 1 kg | 2,950
YT 300/400g FE 1& kg | 3,500
YT 400/500g FE 1l kg | 3,600
HHT 500/600g | FI (e kg | 3,600




